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° FW AT F T [F 3G FoT-0T F GRT 797 18 &

Please make sure that the printed question paper are contains 18
questions.

° g97-U5 H &lfed & & Gl /9 T e TEC T § # HH TAv-yikawm &
FE-7% q7 g
The Code No. and Set on the right side of the question paper should be
written by the candidate on the front page of the answer-book.

 PYF F97 H TV [IGT J@ &7 @ B, J97 H HHH T [ G

Before beginning to answer a question, its Serial Number must be written.
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3630/(Set : A) P.T.O.



(2) 3630/(Set : A)
Except answer-book, no extra sheet will be given. Write to the point and do

not strike the written answer.
o ghEreff STy U To FIT-YF YT S7q9T i@

Candidates must write their Roll Number on the question paper.

o FyI g9 F TG @7 @ {d I8 GAREGd & T [ geT-v7 g 7 & 8 gher 3
GYUIT 59 T F #ig A qrar e TE R wam

Before answering the questions, ensure that you have been supplied the
correct and complete question paper, no claim in this regard, will be

entertained after examination.

G 7397 - -
() @ g7 Sard &

(i) 5T Fo7-07 7 §T 18 F97 &, 7 qX @Sl - A, §, @ T T F 97w &

(i) GUE - O & Jo7 G& 1 7 qRE (i-xii) TGTT F97 &1 F97 (i) @ (viii) T
JelHNT J97 &1 J9% 797 H & ey Ry 7 & forad @ el ey a7
g7 FTT FIT (ix) @ (xii) TF F9F F T GF 7 & I I JH 7
A qA% F97 1 9% F 8

(v) @ - § 7 g97 G&q7 2 @ 10 7% SHT-TEANAE J97 &, A% & 2 9% &/

(v) @ -g 7T G& 11 @ 15 T% TIANAE J97 &, 4% % 3 7% &1

(i) G- § F g7 T&IT 16 @ 18 T% FF FTUHE J97 &, 9% & 5 7% &

3630/(Set : A)



(vii)

3630/(Set : A)
G- T (49 FaIEE F97) & ahrs:/? 7 SaRe %y YTy 81 87 ge

7 & ayel & T g § G 397 @ & 597 B &1

General Instructions : -

1.

(9
(i)

(iii)

()

(v)

(vi)

(vii)

(i)

All questions are compulsory.

This question paper contains 18 questions, which are divided into
four Sections : A, B, C and D.

Section - A contains question number 1 having twelve (i-xii) objective
type questions. Each question carries 1 mark. Question from (i) to (uvii)
multiple choice type questions. Each question carries four options, from
which choose the correct option. The answer of each question from (ix) to
(xii) may be given in one or two words or sentences.

Section - B contains question numbers 2 to 10 of very short answer
type questions and carry 2 marks each.

Section - C contains question numbers 11 to 15 of short answer type
questions and carry 3 marks each.

Section — D contains question numbers 16 to 18 of long answer type
questions and carry S marks each.

Internal choice is available in two questions of Section-D (Long
Answer Type Questions). You have to attempt only one of the given
choice in such questions.

qus - A
SECTION - A

(gfrs 5e)

(Objective Type Questions)
frfofaa & & @H-ar fafeil = 2 1

3630/(Set : A) P.T.O.



(4) 3630/(Set : A)
(A) 2ugd

(B) %

(©) (&) &R (B) &N

(D) B

Which of the following is hermaphrodite ?
(A) Tapeworm

(B) Leech

(C) Both (A) and (B)

(D) Roundworm

(i) ffatad § @ fFa® oTaeT rRNA WieRe-11 gRT 8ar & 7 1

(A) tRNA

(B) Ss rRNA
(C) Sn RNA
(D) Hn RNA

Which of the following is transcribed by rRNA polymerase-II ?

(A) tRNA

(B) S5s rRNA
(C) Sn RNA
(D) Hn RNA

(iti) Frefred & & -6 Tk Bl o ot 1 T AT 787 Bl © ¢ 1

(A) UAA

3630/(Set : A)



(5) 3630/(Set : A)

(B) UAG
(C) (A) ¥R (B) &t
(D) UAC

Which of the following codon does not code for any amino acid ?
(A) UAA
(B) UAG
(C) Both (A) & (B)
(D) UAC
(iv) ohefe fered fospiia gu ? 1
(A) IAFR
(B) gy
(C) el
(D) &g

Lobefin evolved into :
(A) Amphibian

(B) Reptile

(C) Bird

(D) Mammal

3630/(Set : A) P.T.O.



(6) 3630/(Set : A)
(v) Ffated § @ -9 @ ®9 9 Eged & X & amr S § 7
1

(A) TR

(B) UserseeX

(C) =™

(D) TR

Which of the following is a free living nitrogen fixing bacteria ?

(A) Pseudomonas

(B) Azotobacter

(C) Rhizobium

(D) Nitrosomonas

(vi) TR TR oMY e weeh fRe uede R @ e & 7 f

(A) wgi

(B) HesIfST

(C) ST gt
(D) Rl

Interaction between sea anemone and clown fish is an example of :
(A) Competition

(B) Commensalism

3630/(Set : A)



(7) 3630/(Set : A)

(C) Amensalism

(D) Parasitism

(vii) TEd ST A ST fhe TR P ST B 7 1

(A) Sl TR

(B) ETedig STIhH

(C) T A

(D) oEfag ST

Lichens and Mosses are the stages of which type of succession ?
(A) Hydrarch

(B) Marsh

(C) Psammarch

(D) Xerarch

(viii) fF=fofad & @ H9-a1 #R% 39 fAfgad & o0 @aa 7@ g 7 1
(A) TRl yenfeRi @ yad
(B) a9 Sfige HAHENH
(C) o™ & 8™
(D) g

Which of the following is not a threat to biodiversity ?

3630/(Set : A) P.T.O.



(8) 3630/(Set : A)

(A) Introduction of exotic species
(B) Wild life sanctuaries
(C) Habitat loss

(D) Pollution

(ix) F¥& Gode 1 & 7 1

What is syngamy ?

(x) ZIFTffr #m & ? 1

What is ZIFT technique ?

(xi) U FME ? 1

What is flocs ?

(xii) T % 199 @ GRNG BT 1
Define Allen's rule.
qug - q
SECTION- B

(SAfer-Sregerees 99H)

(Very Short Answer Type Questions)
3630/(Set : A)



8.

(9) 3630/(Set : A)
Jigare Hfcter @l @ ey 2

Write down the structure of fallopian tube.

TR i e R & R F i 2

Write about barrier methods of contraception.

SIS S GHYS ofiF H oy & FHifo) 2

Differentiate between promoter and terminator gene.

HIREH F NI T & foe gt N SR % R T T &) STasdd & ¢ 2

Why are all the three types of RNAs needed to synthesize a protein in a

cell ?

. WiRE TRYF & e #0127 S9 doiee & 99 ey, e 38 i

fopam 2

What is the theory of spontaneous generation ? Name the scientist who

dismissed it.

WEHE 58 S § I BNl & ! 3HH b qHE 8 P 2

From which microbes, the streptokinase is produced. What is its role ?

T ) ek & e 5T 9 $d Har 8 7 2

3630/(Set : A) P.T.O.



10.

11.

12.

13.

(10) 3630/(Set
How does ribosome work in the process of translation ?
e IqaA A ¢ OEREr H I i & ar 7 frau 2
What are sacred groves ? Write down their role in conservation.

g ffaean afq & wfodeT #t @ i § 7 2

What is the role of over-exploitation in biodiversity loss ?

qus -9
SECTION- C

(TR 99)

(Short Answer Type Questions)

PEhSTch TCTERIAT & AT HIC FH Ak [ SR

- A)

Draw a well labelled diagram of sectional view of a seminiferous tubule.

TSl T B 2 7 UE B Bl B MR Th qEmT F Bd B 7 3

What is Allergy ? How does it take place & what are its symptoms ?

qME HET | QA B R § 7 3

What is the role of animal husbandry in human welfare ?

3630/(Set : A)



(11)

14. € ©F U F Qv et W 59 YR Hrer S g B 7

15.

16.

17.

How can DNA be cut at specific locations ?

g TEE (SEHRATEDBIE) H 9O il 3

Discuss biomagnification.

gos -
SECTION - D
(S ST )

(Long Answer Type Questions)

RIS G A faediK | 9ol ahifsra) 5

Describe the structure of pollen grain in detail.

e U 1 3 ? U SaeYl died aui aifeg| 5

What is co-dominance ? Explain with an example.

OR

3630/(Set : A)

3630/(Set : A)

P.T.O.



(12) 3630/(Set : A)
qMa ¥ 9T 9N a AR e [Jerl & auie s 5

Describe various chromosomal disorders found in human beings.

18. FHITHA YR H AR TT T ey [y 1 & ? U @01 died e S|
5

What is RNA interference technique of cellular defence ? Explain with

an example.

OR

Sie fafeer ®&m 8 7 CEMEH e (T St T) # FH B IR ad Y avA
T 5

What is gene therapy ? Illustrate using the example of adenosine

deaminase (ADA) deficiency.

3630/(Set : A)
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F7T T HC)
Except answer-book, no extra sheet will be given. Write to the point and do
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(2) 3630/(Set : B)

o ghEreff STy U To FIT-YF YT S7G9T i@

Candidates must write their Roll Number on the question paper.

° FUI F¥ F AT @7 & (@ B gad Y d & FeT-0 {7 T @& &, g &
FYUT 59 T § 23 4 qar @hE 78 B aam

Before answering the questions, ensure that you have been supplied the

correct

and complete question paper, no claim in this regard, will be

entertained after examination.

G 89T < -

(i)
(@)
(iii)

(w)
(v)

(vY)
(vii)

3630/(Set :

& o7 A 8

57 F97-0F 7 %7 18 F97 &, o 4 @] - A, q, W T T H [ 8
G - 9 P F97 7C 1 § §RE (i-xii) FGTS Fo7 &1 FoT (i) G (viii) T&
JelHNT J97 &1 J9% 797 H A ey Ry 7 & forad @ el fwey a7
FIT FTQ FIT (ix) @ (xii) TF TEF F FIC §F T & I T TJHE F
g 9% F97 1 o/ T &1

7€ - § § J97 F&q 2 § 10 7% SH7-TgAIHE 97 &, A% B 2 3% &1
GUE - G 7 597 GEIT 11 7 15 7% TgTIHB 97 &, 4% % 3 3% &/
G- § 7 797 7C 16 7 18 % §9 ITHF J97 8, 9% 5 3% &/

G- § (34 TS q97) & @ qo7 7 oR% ey ST &1 97 g
7 & ayEl & T 8¢ § G T @ & 597 FA 81

B)



(3) 3630/(Set : B)

General Instructions : —
() All questions are compulsory.

(i) This question paper contains 18 questions, which are divided into
four Sections : A, B, C and D.

(iii) Section — A contains question number 1 having twelve (i-xii) objective
type questions. Each question carries 1 mark. Question from (i) to (viii)
multiple choice type questions. Each question carries four options, from
which choose the correct option. The answer of each question from (ix) to
(xii) may be given in one or two words or sentences.

(iv) Section — B contains question numbers 2 to 10 of very short answer
type questions and carry 2 marks each.

(v) Section - C contains question numbers 11 to 15 of short answer type
questions and carry 3 marks each.

(vi) Section — D contains question numbers 16 to 18 of long answer type
questions and carry S marks each.

(vii) Internal choice is available in two questions of Section-D (Long
Answer Type Questions). You have to attempt only one of the given
choice in such questions.

qus - A
SECTION- A

(gfres we7)

(Objective Type Questions)
1. () fr=faiea & & f6ed @ Moe &ar ® 7 1

(A) S foesT
(B) #e®
(C) (A) ¥R (B) &t

3630/(Set : B) P.T.O.



(4) 3630/(Set :
(D) &gy
In which of the following the fertilization is external ?
(A) Bony fish
(B) Frog

(C) Both (A) and (B)
(D) Reptile

(i) FrfoRed & & TR OF T diferRel-1 fhee offoe &l & ¢ 1
(A) tRNA
(B) mRNA
(C) (A) &R (B) Al
(D) rRNAs

Which of the following is transcribed by RNA polymerase-I ?
(A) tRNA
(B) mRNA
(C) Both (A) & (B)
(D) rRNAs
(i) FIfRaT & & HF-A1 TR TgE © 7 1
(A) AUU
(B) AUC

(C) AUA

3630/(Set : B)

B)



(5) 3630/(Set : B)
(D) T & Hi§ T
Which of the following is a initiative codon ?
(A) AUU
(B) AUC
(C) AUA

(D) None of these

(iv) Hiemed @& o ? 1
(A) T
(B) SHIEX

() @iy
(D) ueft

Coelacanth was a :
(A) Fish

(B) Amphibian
(C) Reptile

(D) Bird

(v) Ffatad § @ &N agrsad TEgeM & REdgd & @l & ¢ 1

3630/(Set : B) P.T.O.



(6) 3630/(Set : B)

(A) AT
(B) HiEcis
(C) oiffteairan
(D) ¥ gft

Which of the following can fix atmospheric nitrogen ?
(A) Anabaena

(B) Nostoc

(C) Oscillatoria

(D) All of these

(vi) S SR AROT 93] &l UREN FhaT R Seer 8 P 1

(A) HRIUEHIRT
(B) TR

(C) eI

(D) = & #13 el

The interaction between cattle egret and grazing cattle is an

example of :
(A) Mutualism
(B) Predation

(C) Commensalism

3630/(Set : B)



(7) 3630/(Set : B)
(D) None of these
(vii) Fretfoied & & S Sy iRRefos o § SErmTH q9ed s 8 7 1
(A) SIIH 9IRY
(B) T T WY
(C) UIRUwIdah
(D) XA a 9y
Which of the following constitute the pioneer community in
hydrarch ecological succession ?
(A) Submerged plants
(B) Emergent plants
(C) Phytoplankton

(D) Floating plants
(viii) SET ST ST THfE S Iea Tmirban (dSfre) et a8 ot & 7
() ges ffqear s F
(B) TS SN H
(C) SAHIRYY H
(D) Sig-fafaesar a< & (Se-wfe) A
The most richest species and high degree of endemism are found
in :
(A) Mega diversity zone

3630/(Set : B) P.T.O.



(8) 3630/(Set : B)
(B) National park

(C) Sanctuaries

(D) Biodiversity hot-spots

(ix) I 9T F AW fARaC S 12 q9 F 6 IR T I B ol 1

Write the name of the plant that produce flowers once in 12 years.

(x) GIFTfafy Fr 8 ? 1

What is GIFT technique ?

(xi) USraifes = 8 ? 1

What is Antibiotic ?

(xii) DfFeTRE Y Fea & 7 1

What is Homeostasis ?

gos - §

SECTION- B

(rfr-TgeRreT® 999)
(Very Short Answer Type Questions)

2. Wi R witue™ 1 8 ? 2

3630/(Set : B)



(9) 3630/(Set : B)

What is spermiogenesis and spermiation ?

3. TG & ST R (SEECUET feand) & aR § ffaw 2

Write about Intrauterine devices of contraception.

4. IS (THIH) X g (350) 1 8 7 2

What are exons and introns ?

5. ofHRTY X AUEHT URe @ AUH F AWE & 7 2

What do you mean by unambiguous and degenerate codon ?

6. I & 49 & w & R & aR ¥ [Wiaw 38 =ifd & 79 & e mr =
g7 2

Write about Hugo de Vries theory of evolution. How does it differ from

Darwin view ?

7. HERIENRA T R Siidar] & IG BT & P 3Hh F g Bl B P 2

From which microbes cyclosporine A is produced ? Write its role.

8. Ghadl A SN e & e e &« W st @t & ? 2

At which level the regulation of gene expression in Eukaryotes can be

done ?

3630/(Set : B) P.T.O.



(10) 3630/(Set : B)
9. IwiEleddl A § TeQ oIF WX H a0 THE F A & 7 e fafe
qfReemTe it p)

Give various hypothesis for explaining why tropics show greatest level

of species richness ?

10. S ffdear afq § wefagwar #i @ 9fiwm 8 ? 2

What is the role of co-extinctions in biodiversity loss ?

qus -9
SECTION- C

(TrgaRTeT® 999)

(Short Answer Type Questions)

11. ST90 &1 & ? 9% A & [ 3

What is placenta ? Write down its functions.
12. AR AT & WEEH B A AR AN H T O @t 39 5

Y Hehiid BT § ? 3

Write the name of causative organism and symptoms of disease

Pneumonia. How does a healthy person acquire this infection ?

3630/(Set : B)



(11) 3630/(Set : B)
13. FAgefmRd: TUaRa qEl & F91 @9 8d © 3

What are the advantages of genetically modified plants ?

14. 3o ZiarE FAT Haed pBR322 # yfueew e ol ufemifas e ofiw avia

U, 3HH SHifhd o SgT
3

Draw a well labelled diagram of E.Coli cloning vector pBR322 showing

restriction sites and antibiotic resistance genes.

15. Y-&RT AT HHEIIBIT B qU o 3

Discuss soil erosion and desertification.

gos -
SECTION - D
(S ST ue)

(Long Answer Type Questions)

16. Ul § YURRIY & [FHIOT B qU Bl 5

Explain the formation of Embryo sac in plants.

OR

3630/(Set : B) P.T.O.



(12) 3630/(Set : B)
gudi Grg § WORETT I Sidled 09 IRARTT & Siled S and far |t
I feer e 5

Mention various devices to discourage self- pollination and to

encourage cross-pollination in flowering plants.

17. fegs ofR wiRml & fefwr Meier &1 ol &b 5

Describe the sex determination in grasshopper and birds.

HAYqT

OR

I 1 B & 7 B ST Tl X FB IWHA F e & ¢ 5

What is dominance ? Why are some alleles dominant and some

recessive ?

18. R WEHE F1 8ld & 7 I S B A TR S $6 UAT FAT 8 FF 39 AN
H AT FER $ [T HA STER H AT S 7 5

What are Cry proteins ? Name the organism that produce it. How has

man exploited this protein for his benefit ?

3630/(Set : B)
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3630/(Set : B) P.T.O.
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° FW AT F T [F 3G FoT-0T F GRT 797 18 &

Please make sure that the printed question paper are contains 18
questions.

° g97-U5 H &lfed & & Gl /9 T e TEC T § # HH TAv-yikawm &
FE-7% q7 g
The Code No. and Set on the right side of the question paper should be
written by the candidate on the front page of the answer-book.

 PYF F97 H TV [IGT J@ &7 @ B, J97 H HHH T [ G

Before beginning to answer a question, its Serial Number must be written.

o FTv-YikaeEl # &9 4 @l 7/ 91 T i8]

Don'’t leave blank page/pages in your answer-book.

» FTT-GRTH % GIfiRFT FlF o e TE A o Saegmalgar & g i ke
FT 7 FIC
Except answer-book, no extra sheet will be given. Write to the point and do

not strike the written answer.

3630/(Set : C) P.T.O.



(2) 3630/(Set : C)

o ghEreff STy U To FIT-YF YT S7G9T i@

Candidates must write their Roll Number on the question paper.

° FUI F¥ F AT @7 & (@ B gad Y d & FeT-0 {7 T @& &, g &
FYUT 59 T § 23 4 qar @hE 78 B aam

Before answering the questions, ensure that you have been supplied the

correct

and complete question paper, no claim in this regard, will be

entertained after examination.

G 89T < -

(i)
(@)
(iii)

(w)
(v)

(vY)
(vii)

3630/(Set :

& o7 A 8

57 F97-0F 7 %7 18 F97 &, o 4 @] - A, q, W T T H [ 8
G - 9 P F97 7C 1 § §RE (i-xii) FGTS Fo7 &1 FoT (i) G (viii) T&
JelHNT J97 &1 J9% 797 H A ey Ry 7 & forad @ el fwey a7
FIT FTQ FIT (ix) @ (xii) TF TEF F FIC §F T & I T TJHE F
g 9% F97 1 o/ T &1

7€ - § § J97 F&q 2 § 10 7% SH7-TgAIHE 97 &, A% B 2 3% &1
GUE - G 7 597 GEIT 11 7 15 7% TgTIHB 97 &, 4% % 3 3% &/
G- § 7 797 7C 16 7 18 % §9 ITHF J97 8, 9% 5 3% &/

G- § (34 TS q97) & @ qo7 7 oR% ey ST &1 97 g
7 & ayEl & T 8¢ § G T @ & 597 FA 81

C)



(3) 3630/(Set : C)

General Instructions : —
() All questions are compulsory.

(i) This question paper contains 18 questions, which are divided into
four Sections : A, B, C and D.

(iii) Section — A contains question number 1 having twelve (i-xii) objective
type questions. Each question carries 1 mark. Question from (i) to (viii)
multiple choice type questions. Each question carries four options, from
which choose the correct option. The answer of each question from (ix) to
(xii) may be given in one or two words or sentences.

(iv) Section — B contains question numbers 2 to 10 of very short answer
type questions and carry 2 marks each.

(v) Section - C contains question numbers 11 to 15 of short answer type
questions and carry 3 marks each.

(vi) Section — D contains question numbers 16 to 18 of long answer type
questions and carry S marks each.

(vii) Internal choice is available in two questions of Section-D (Long
Answer Type Questions). You have to attempt only one of the given
choice in such questions.

Tug - A
SECTION- A
(g 5)

(Objective Type Questions)

1. () =, GUEER AR FHagad IO 4 Fhe TR & T SugE © ¢ 1

(A) @I TR

3630/(Set : C) P.T.O.



(4) 3630/(Set : C)

(B) Wl WRETOr
(C) T URFT
(D) darg WRETT

Flowers having bright colours, fragrance and nectar are suited for

which type of pollination ?
(A) Entomophily

(B) Ornithophily

(C) Hydrophily

(D) Anemophily

(i) f=fomead & § S8 i Ao siaTieEl 3R (Mo go o) B 7 1

(a) ford o

(B) WS 375

(C) T T St 20

(D) & & HiE T

Which of the following is copper releasing Intrauterine Device (I. U.
D.)?

(A) Lippes loop
(B) Multiload 375
(C) LNG 20

(D) None of these

3630/(Set : C)



(5) 3630/(Set : C)
(i) aE ok g B B a 'O’ & SR IFH AWT F HER I A’ T, A 36D
fyar @1 SRR @t @ o dAEE & g & 7 o

(A) A
(B) B
(C) 'O
(D) ¥ aft

A child has blood group 'O' and her/his mother has blood group

'A', then what are the possibilities of blood group of her/his father

?

(A) A’
(B) B
(C) 'O

(D) All of these

(iv) ™ ¥ ¥ Ae AT fFEsd HROT Bar © 7 1
(A)  Fah
(B) ST

(C) fam
(D) SIERNeH

Red rot disease of sugarcane is due to :
(A) Fungi

3630/(Set : C) P.T.O.



(6) 3630/(Set : C)

(B) Bacteria
(C) Virus

(D) Protozoans

(v) FrfoRed & & SiF-a1 921 § Jeameeen § agrsad ARge ® REX & 8
! 1
(A) USTEERe™
(B) Udlagex
(C) (A) 3R (B) &t
(D) SSHieRA

Which of the following can fix atmospheric nitrogen while free

living in the soil ?
(A) Azospirillum
(B) Azotobacter
(C) Both (A) & (B)

(D) Rhizobium
(vi) Frfofed & @ SF-9 TeEs g JiueE giaT § 787 el © 1
A) A
(B) B

€ C

3630/(Set : C)



(7) 3630/(Set : C)
(D) T & F5 Tl

Which of the following peptide chain is not present in mature

insulin ?
(A) A
(B) B
€ C

(D) None of these

(vii) FifoRed & & SF-G1 A I 9O (AR W) B Stad @6 Q0 & &
fore weeer g © 7 1
(A) T
(B) weeht
(C) (A) X (B) T
(D) =g

Which of the following is the intermediate host of human liver

fluke to complete its life cycle ?
(A) Snail

(B) Fish

(C) Both (A) & (B)

(D) Human being

(viii) ‘ferqenl ST &R fheent &1 & T ? 1
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(A) T &

(B) 9 % ¥ @l
(C) gat @

(D) ¥S B

'Chipko Movement' was for the protection of :
(A) Animals

(B) Grassland

(C) Trees
(D) Fish
(ix) FeHT = (PiferdRmEsT) #1 & ? 1

What is coleorrhiza ?

(x) S WG H A9 g Brew & o1 ¢ B W R Ram o

Name the scientist who named DNA as 'Nuclein'.

(xi) Fpe SiaT] & daq Fade aer (aesq) S U U Ui U

CRINSII I 1
From which bacterium thermostable DNA polymerase is isolated ?
(xii) FUSARA Siig M & ? 1

What are Euryhaline organisms ?
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gug - §

SECTION- B

(erfdr-TrgeRreT® 999)
(Very Short Answer Type Questions)

2. FHF yad 1 B T 7 39 O YB3 9 fafaw 2

What are vegetative propagules ? Name its various types.

3. IWET M T 7 3D ST S FEUANT 4 § 7 2

What is amniocentesis ? What are its uses and misuses ?

4. f&fg SRac &1 8 ? T I&m A 2

What is point mutation ? Give an example.
5. Tgwigs! AR deiwizsl fFd Fed § ? 2
What is aneuploidy and polyploidy ?

6. FUH THT H1 8T & ¢ Th IEeLTT ) 2

What are somatic hybrids ? Give an example.

7. SHaTe] R H S TF T A Bg R TR Qe ST S § 72

How is the bacterial cell made competent to take up DNA ?
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8. qd Y Foos F N S F TH ffaw 39 FER % Oy Y & 9 AR
St & W fafe 2

Write the name of gene which code Bt toxin. Name various types of

genes which produce such toxin.

9. g AENfEn & fafr offda™ &sf & ar 7 ffgw 2

Write down various research areas of biotechnology.

10. € S & F S=9 GiEdl H URE W FA T96 Sar 8 7

What is the effect of high concentration of DDT on birds ?

qvE -4
SECTION - C
(e %)

(Short Answer Type Questions)

11. SR @r et B ? oififere § 39 fafyr &1 avie v 3

What is autogamy ? Explain this process in oxalis.

12. R & 5T % SR ¥ fifew 3
3630/(Set : C)



(11) 3630/(Set : C)

Write about Miller's experiment.

13. T & TN & el T #41 § 7 3

What are the harmful effects of using Tobacco ?

14. TF &Y ARG G35 H AHihd RE S9ET 3

Draw a well labelled diagram of a typical biogas plant.

15. 3T9He fhd Fed & °? 39 Uithdl WX a9 99T TH & U9 H few 3

What is decomposition ? Write about effect of temperature and

moisture on this process.

gUs -
SECTION- D
(S SAeTE 99)

(Long Answer Type Questions)

16. b SEHAT & aU i) 5

Describe the process of spermatogenesis.
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SLE)

OR

o H e ud sfarier ufkar @ g it 5

Describe the process of fertilization and implantation in human beings.

17. A SE GRASHT & Hew@qel qedl # v e 5

Describe the important goals of human genome project.

AYqT

OR

Bifter er1 s ®uiag R @ qui i) 5

Describe the transformation principle proposed by Griffith.

18. uiRds ¥ o9 fafagar & we@ & o= Fifm 5

Discuss importance of species diversity to the ecosystem.
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o ghEreff STy U To FIT-YF YT S7G9T i@

Candidates must write their Roll Number on the question paper.

° FUI F¥ F AT @7 & (@ B gad Y d & FeT-0 {7 T @& &, g &
FYUT 59 T § 23 4 qar @hE 78 B aam

Before answering the questions, ensure that you have been supplied the

correct

and complete question paper, no claim in this regard, will be

entertained after examination.

G 89T < -

(i)
(@)
(iii)

(w)
(v)

(vY)
(vii)
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General Instructions : —
() All questions are compulsory.

(i) This question paper contains 18 questions, which are divided into
four Sections : A, B, C and D.

(iii) Section — A contains question number 1 having twelve (i-xii) objective
type questions. Each question carries 1 mark. Question from (i) to (viii)
multiple choice type questions. Each question carries four options, from
which choose the correct option. The answer of each question from (ix) to
(xii) may be given in one or two words or sentences.

(iv) Section — B contains question numbers 2 to 10 of very short answer
type questions and carry 2 marks each.

(v) Section - C contains question numbers 11 to 15 of short answer type
questions and carry 3 marks each.

(vi) Section — D contains question numbers 16 to 18 of long answer type
questions and carry S marks each.

(vii) Internal choice is available in two questions of Section-D (Long
Answer Type Questions). You have to attempt only one of the given
choice in such questions.

qus - A
SECTION - A

(gfrs 5e)

(Objective Type Questions)

1. () f=fafed & 8 fhad sgyemr a S 8 ? 1
(A)  HTER
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(B) €au

(C) =

(D) W

In which of the following polyembryony is found ?

(A) Guava

(B) Orange
(C) Gram
(D) Maize

(i) TH RIg MR I A B SRR & 'O’ 71 Rig B @ & SR @ w@w
T & T ¥ 7 1
(A) A’
(B) 'B
() 'O
(D) T @i

A child and his/her mother both has blood group 'O'. What can be
the possibilities of blood group of father of child ?

A) A’
(B) B
(€) 'O
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(D) All of these

(i) T TR rREEE § e &R g @ S oF T gt el & ¢ 1

(A) 200
(B) 400
(C) 1000
(D) 2000

A typical nucleosome contains how many base pairs of DNA helix ?

(A) 200
(B) 400
(C) 1000
(D) 2000

(iv) FREEY B & e I e FROT BT B ¢
(A) T
(B) Siary

(C) fammy
(D) Wiere™

Black rot disease of crucifer is due to :

(A) Fungi
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(B) Bacteria
(C) Virus

(D) Protozoans

(v) fr=fafea § @ f9-a1 9 B 7 1
(A)  SEEERT
(B) #HI&hT
(C) THRIGFR
(D) FAEfSTH

Which of the following is yeast ?
(A) Lactobacillus

(B) Monascus

(C) Acetobacter

(D) Clostridium

(vi) HfvH BT #4187 1
(A) AR
(B) SIeH
(C) MBI
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(D) SfewE
Armyworm is :
(A) Coleopteran
(B) Dipteran
(C) Lepidopteran

(D) Bacillus

(vii) 39X ofX X & U fpan fohaen Saresor § ?

(A)  FEHIST

(B) @EIgeHIIRaT

(C) TXoftfere

(D)  9THET

The interaction between fig tree and wasp is an example of :
(A) Commensalism

(B) Mutualism

(C) Parasitism

(D) Predation

(vii) g a9 (e arf) § SF-8 9 B qais aeE 8§ ¢ 1
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(A) CFCs
(B) N20
(C) COs
(D) CHa

Which gas contributes the maximum in Global Warming ?

(A) CFCs
(B) N20
(C) COs
(D) CHa
(ix) SigrE fhd Fed § ? 1

What is coleoptile ?

(x) SE HE & AW fafew, sEr TEhEe T e’ @ @ g ¢ 1
Name the Institute where 'Saheli', an oral contraceptive tablet was

developed ?

(xi) SH THEIH & AW fRaw Fed € o7 T & GE H oW R o e
1

Name the technique by which DNA fragments can be separated.

(xii) T ST F B 8§ ? 1

What are stenothermal organisms ?
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gug - §

SECTION- B

(SAfey-Sregerees 99)

(Very Short Answer Type Questions)

2. 97 e 5 Fea B ? 3o aifwar fiew 2

What is external fertilization ? Write its disadvantages.

3. TNy # Ta-Fraa & IR § e 2

Write about surgical methods of contraception.

4. T 1S ? @ R Aol & AW faRaw 2

What is fishery ? Name two marine fishes.

5. TIECHERA & I 7 i 2

Write about phenylketonuria.

6. I A THEET & HROT 1 8 ? 59 SHd § RBC & FT i & ¢ 2

What is the cause of sickle cell anaemia ? What happens to RBC in this

disease ?

7. IO Sig SiR Aregf @ AT § e § oF © Sl sas SO & farEr @ e
72
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11.

(10) 3630/(Set : D)
What are the methods to introduce alien DNA into host plant and

animal cells ?

HAYeH IS T H AW R HERT TE % g | 36h g9 B 1 A © ¢
2

Name the first transgenic cow. What is the advantage of its milk over

than natural cow milk ?

. IR Y Fed € 7 2

What is biopiracy ?

fsgemdt ST (ea artiT) & &A e S Rt # b 8 ¢ 2

How can we control Global Warming ?

qie -9
SECTION- C

(TR 99)

(Short Answer Type Questions)

U & YT & IR HE P THih ARG B¢ 3

Draw a well labelled diagram of L. S. of an embryo of grass.
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12. &7 &ffog &% R7eg AR s aMg # fdvan ke 3

Write down the features of Homo habilis, Homo erectus and Neanderthal

man.

13. aNfeifssd 1 & ar ¥ fRaw 3

Write about opioids drugs.

14. Yiqees U9Eg @ 8 7 39 UOEHl & AMEIO B UOUN Rl U Sasd gied
feriemy 3

What are restriction enzymes ? Write the convention for naming such

enzymes with an example.

15. JUEHD 9 F1 AU & ? 9hd WA Skl 9 A Wb Sdeddl
Y W HifTT 3

What is meant by productivity ? Differentiate between gross primary

productivity and net primary productivity.

qug - §
SECTION- D
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(Long Answer Type Questions)

16. 3o fafy @ aoi= FHifm 5

Describe the process of oogenesis.

OR

ol | g€ T GIEHE H U i 5

Discuss parturition and lactation in human beings.

17. WEIA & G § o9 $Hifm 5

Describe translation in brief.

AYqT

OR

AR T 1 ¢ ¢ 36 TgE AR fafeg 5

What is genetic code ? Write its salient features.
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18. Sig fafqaar & e &9 g9 & Ui H GO BT 5

Describe species area relationship pattern of biodiversity.
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